.‘ Quiz 8.6 — Integration by Substitution

1. {1 point) —alfred Library/AUCVchapter8fessont/quiz/indefiniteusub3 M.A— =
. . . 2 §oa .
For the indefinite integral / 1°v/9 4 x¥dx, a good choice for a Therefore; the: given integral in terms of x. is

i -substitution is [,(2 VY +.l‘3d.l‘ o —;

"= 2. (1 point) —alfredLibrary/AUCVchapter8/esson6/quiz/definiteusub21.
) Evaluate the definite integral using an appropriate u-

du=________ (besure toinclude dx) substitution.

Now make the substitution into the given integral to get an in- VE : 2

tegral in terms of u only, and its antiderivative in terms of 1 only: ./c‘» xeos(x")dx =
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